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Use the bar method to solve
division problems

Complete the bar models




Year Fo

Use the bar method to solve division
problems

Choose the correct bar model for the worded
question:

Patsy had £4 in total. She gives away £4 at a
time to her friends. How many friends receive
£4?

£4 £4




Use the bar method to solve
division problems

All the children in the school are
going on a residential trip to the
outdoor activity centre. They will
be divided into 6 equal groups. If
there are 246 children in the school
how many will be in each group?




Use the bar method to solve
division problems

Work out the value of C.
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